&

3030 .

2930

=

2830

586

o

]
0 O/A
_
L
_
t

SECTION GRID -2, 2, 4

Copyright 2011
Lysaght Building
Solutions Pty Ltd

trading as RANBUILD

Betrer sheds. Bigger chioice,

CLADDING

ITEM PROFILE {min) | "FINISH COLOUR

ROOF TRIGDEK 0.35 | COLORBOND; WG
WALLS | MULTICLAD 0.35 | COLORBOND WG -
CORNERS - COLORBOND WG
BARGE - COLORBOND) PB
GUTTER SHEERLINE | COLORBOND; PB
OQWNPIPE| 100%50 - | coLORBOND) PB

ACCESSORY SCHEDULE & LEGEND

QTY | MARK|DESCRIPTION

2 RD1 |CSIRollmasta, R.D, Residential "R1R", 2315 high
2400 wide Clear Cpening C/B

1 RB-13 |Premium Access Door Kit, /8 {S)

1 KWN1 {790h x 1274w Windaw Kit, C/B (S}

1 KFO1 |2100H x 2400W Framed Opening, Dodr must be
fitted -

|
|
|
|
|
|
|

3656

- ARCHITEGTURAL DRAWING ONLY
NOT FOR CONSTRUCTION LISE

ELEVATION GRID 1 !

WIND DESIGN
IMPORTANGE LEVEL REGION | TERRAIN
’ 2 A 2
CLIENT
STEVE BARNES
SITE

299 PACIFIC HWY
HEATHERBRAE NSW 2324

BUILDING
SUNDOWN SUPER

7130 SPAN x 2700 EAVE x 5860 LONG

TITLE

FLOOR PLAN & ELEVATION

SCALE DRAWING NUMBER ' PAGE
ASHEET1125 | NOVO4-10104 111




Copyright 2011
Lysaght Building
Solutions Pty Lid

trading as RANBUILD

Better chedx. Bigger chioire,

NOYES

ALL DIMENSIONS SHOULD BE CHECKED AND VERIFIED
PRIOR TO COMMENCEMENT OF ANY WORKS.

SEE ERECTION INSTRUCTIONS FOR PAD DETAILS
1 mh SEE NECON2000, NE71-B-3 FOR ADDITIONAL DET'S:
PF1

mmmo

m 2945 85 _ 2845 2845 85 2945

@ ® ® ® m_o
!

_r
- ‘ml ‘m .
1T._ —u_ 2] ’ |NOTES & CONCRETE SPECIFICATION
T...mommaﬁ —_ SCBS15
| ¥scBsis ]
[ 3
_
1
1

Y CAREFUL PLANNING SHOULD BE MADE WHEN
—_— DETERMINING PAD FOOTING SIZES, |F AN ANNEXE OR

AWNING IS BEING Oozm_ommmc AS A FUTURE ADD-ON
INITIAL FOOTING TREATMENT MUST BE MADE. PLEASH
! CONTACT x>z.mc=._u FOR THIS TREATMENT DETAIL,
_ "C" =103 FOR SGBS10
t "C" =154 FOR SGBS15
_ 60 TO STRAP INNER FACE
. i - C
= _ | S I o
w o ) ] o aal..
T T T gre - 2 S e
fan) w. M~ | . [OKCRETE
% 1 1 E
t 1 SECTION A - A
_ _ BASE STRAP LOCATION
- 0|
"SGBS15
: =—-=8GBS10_ —
o PF1 ] ® PF2
_Hmm 2500 ﬁﬁm 2500 wmm_
CLIENT
STEVE BARNES
SITE ) ’ .
PAD FOOTING LEGEND : 299 PACIFIC HWY
BASE STRAP & HD BOLT SCHEDULE i SET DOWN 50mm BELOW : HEATHERBRAE NSW 2324
' WM W"X'D
4 _N_mD.U.w>mm STRAP SGBS10 PE1 - Amo“hmotho .._.O_u OF GARAGE PADS -
6 REQ'D BASE STRAP SGBS15 BUILDING
PF2 = 350x350x350 SUNDOWN SUPER
PF3 = 400x400x400 - ‘ 7130 SPAN x 2700 EAVE x 5860 LONG
TITLE

PAD FOOTING PLAN

SCALE DRAWING NUMBER PAGE
NTS PFP-10104 11




O

ELEVATION GRID A

@ B8 cse  OSI® oo C3% _css OS50 cgq  CSB
)3
“ .wa T84 T54 ._.MM
AL a by & 5
“l 183 _© 184 © T84 © 52 ©
1
m 153 IS4 1S4 TS2
T - TS T4 ¢ Tz
<[ L m— S 7 E— T2 _
17 w o i 0 0
8 o ] 3 5
m TS 54 TS4 152
3 ; A i
s o227} sto T35 numw S — (7 nWw
i
FRAME ROOF PLAN : _ \
i H ] i I
cs4 ; css css €84 .
i i w i
-M TS7 X T57 . :
53 silllles il _
e om | st OICR | 81 I
—ﬂy & 1 i !
I | | |
| : 181 51 .
css cs1o _nmm _nms * css
ELEVATION GRID B
X cs4 m cs5 i css ! cs4 !
) f f |
TS5 ! TS5 | _
{ t
i ' ' ¢
ml 85 - _ TS5 [ _
t y : i !
cs8 cs10 cs8 cs10 | csa

24

®

SECTION GRID -2, 2, 4

|
|
|
|
|

\ %J_

T87

17 L7

TST ——  __ Tg7

c510 cs3
ELEVATION GRID 3 (Set Back)

_ 32 Cs;
M\ >
— TS7

TS7

57 TS7

TE7 TS7
csto cs3

ELEVATION GRID 1 (Set Back)

c510

Copyright 2011
Lysaght Building
Solutions Pty Ltd

trading as RANBUILD

ﬂ.. ANDETLS)

Better shedr. Bigger chofce.

NOTES

SEE BILL OF MATERIALS FOR MEMBER
DESCRIPTION

SEE DRG N° CLD-10104 FOR CLADDING
LOCATION DIAGRAM

FOR EXACT BRACING QUANTITIES AND
TYPES PLEASE REFER TQ THE
ENGINEERING SCHEDULE. FOR LOGATING
AND FIXING, REFER TO THE ASSEMBLY
GUIDE.

TEKS PER END
Z52 4
Z51 3
CLIENT
STEVE BARNES
SITE
299 PACIFIC HWY
HEATHERBRAE NSW 2324
BUILDING
SUNDOWN SUPER

7130 SPAN x 2700 EAVE x 5860 LONG

TITLE
STEELWORK MARKING DIAGRAM

SCALE
Ad SHEET 1:125

DRAWING NUMBER PAGE
SMP-10104 i




I 1
I ]
I 13
[}
@
_ | o
glaiglztizlalslazlalalalalals BLE
SSSSSSSS_SSS$SSSSR
ﬁ | 5
5
1 I 4
RE1 RH1 J RFE i RF 5
- - — = s s e~ —— — — ~ i
3 1 1
[-+]
(7]
_ | 3
o © @ |lo |o o |o @ o |a o o |wo o :| =
o
ala(B|3[818 |8 8|2 |8|5]8|2(%3 4
| _ 5
12
10
i i
! ]
f ] ]
b I H 1
ROOF PLAN | _ u
] H i ]
. Lo & 5B 55 8
m m DT2 DT2
3 i i
e [4%4' —— i
m __m.llmo._ = = RD1 &
i il i
! ! ! cut FRom sse

$36
336
586
ss6
586
886

cuT FRbM ss6
WALL GRID A

m
w
_
|

@SF GRID m@ @ @
_
i
m_
_
_

|
i
|
|
|

cuT From 555 WALL GRID 3

® "

CF1

TAPER CUT TOP OF ENL
WALL SHEETS IN LINE
WITH TOP OF ROOF
BATTENS

TAPER GUT TOP OF ENL
WALL SHEETS IN LINE

074 WITH TOP OF ROOF
* BATTENS
L—
=1z |8 |8
o 1773 (7]
] alala 7
'] “ @0 w .b_ =
|
RFO1 :
WALL GRID 1 ! cuTFrROMSSS

Copyright 2011
Lysaght Building
Solutions Pty Ltd

trading as RANBUILD

‘Better shede Rigger eholes.

NOTES

SEE BILL OF MATERIALS FOR CLADDING
DESCRIPTION

SEE DRG N° SMP-10104 FOR STEELWORK
MARKING DIAGRAM

CLIENT
STEVE BARNES

SITE
299 PACIFIC HWY
HEATHERBRAE NSW 2324

BUILDING
SUNDOWN SUPER

7130 SPAN x 2700 EAVE x 5860 LONG

TITLE
CLADDING LOCATION DIAGRAM

SCALE . DRAWING NUMBER PAGE
A4 SHEET 1:125 CLD-10404 1M




éill of Materials

Quote No. 0535-010104.00

Job No. 320350

. Client Site Class Sundown Sban '7130 ;
Bottar shods. Bigger choze. | STEVE BARNES 200 PACIFICHWY 1| 10e  Super Eaves 2700,
299 PAGIFIC HWY NSW 2324 Length 5860
HEATHERBRAE NSW 2324 Model Garage +2 3000mm Roof
Wind B3 only extensions
Qty  Description Measure Mark Colour
32 Sheeting, 0.40tct Trimdek Profile, C/B (SGTDK/ADCB) 3750mm S8S8 WG
4 Sheeting, 0.40tct Multiclad Profile, C/B 500mm 887 WG
10 Sheeting, 0.40tct Multiclad Profile, C/B 2730mm S86 WG
4 Sheeting, 0.40tct Multiclad Profile, C/B 2970mm 885 WG
4 Sheeting, 0.40tct Multiclad Profile, C/B 3190mm S84 WG
4 Sheeting, 0.40tct Multiclad Profile, C/B 3420mm 8§83 WG
4 Sheeting, 0.40tct Multiclad Profile, C/B 3640mm SS2 WG
2 Sheeting, 0.40tct Multiclad Profile, C/B 3700mm SS1 WG
4 Flashing, Ridge C/B ( SGRC/CB ) 3080mm RF1 WG
4 Flashing, Barge, Square, suit High profile, C/B ( FLFLR/EPCB ) 3900mm BF1 PB
4 Flashing, Corner, Small G/B (FLFLR/EKCB) 2730mm CF1 WG
4 Flashing, R.A. Door Mullion, Flush, C/B ( FLFLR/CWCB ) 2430mm DT4 PB
1 Flashing, Access Door Head G/B ( NAHF C/B ) 880mm DT3 PB
2 Flashing, R.A. Door Head C/B { NRF C/B ) 2550mm DT2 PB
4 Flashing, R.A. Door Head C/B ( NRF C/B) 3750mm DT WG
8 Sheerline, Gutter, C/B (RWGUT/AKCB) 3080mm  G1 PB
3 Downpipe, 100mm x 50mm C/B { DP10050CB ) 1800mm DP1 PB
4 Downpipe Strap, 100mm x 75mm C/B ( AST10075CB } RWF4 PB
24 Sheeriine, Gutter Clip ( GPB ) RWF3
4 Sheerline, Gutter Stop-End, C/B ( GSE C/B ) RWF2 PB
2 Downpipe, Nozzle/Pop, 100mm x 50mm C/B { NOZ10050CB ) RWF1 PB
4 C10010/2578-1F35-2F85 2578mm CS10
2 C15010/2539-1F35-2F85 2539mm C89
4 C15012/2589-1F35-2F85 2589mm CS8
2 C10010N/2400 2400mm CS7
4 C10010N/2590 2580mm CS6
4 C10010N/2845 2845mm CS5
4 C10010N/3115 3116mm (54
2 C10010N/3483 3483mm C83
4 C10010N/3525 3525mm CS2
B C15010N/3473 3473mm C81
6 Z15012N/740 740mm 282
3 Z15012N/3000 3000mm Z81
12 Batten section, TopSpan/6175 (FGTPN/AJGV) 3760mm TS7
1 Batten section, TopSpan/6175 (FGTPN/AJGV) 4000mm TS6
4 Batten section, TopSpan/6160 (FGTPN/AHGV) 3140mm TS5
12 Batten section, TopSpan/6160 (FGTPN/AHGV) 3260mm TS4
6 Batten section, TopSpan/6160 (FGTPN/AHGV) 3340mm TS3
6 Batten section, TopSpan/6160 (FGTPN/AHGV) 3345mm TS2
6 Batten section, Topspan/6175x450 long. T84
This building should be constructed in accordance with the Ranbuild Construction Manual.
If a Manual was not supplied please contact your Ranbuild dealer for a copy.
Page 1 _ Printed on 6/10/2012 at 13:38:28



Bill of Materials

Quote No. 0535-010104.00

Job No. 320350

Client Site Class Sundown Span 7130
STEVE BARNES iz_[%i %g%% ng Type  Super Eaves 2700
299 PACIFIG HWY NSW 2324 Length 5860
HEATHERBRAE NSW 2324 Model Garage +2 3000mm Roof
Wind B/3 only extensions
Qty Description Measure Mark Colour
4 Raking Angle, 30 x 30 x 1.0 Galv. (FGFAB/ACGV) 3950mm RA1
1 Opening Head, 61 x 32 { SGSH) 4200mm MS2
2 Opening Mullion, 63 x 35 ( SGSM ) 2200mm 8GSM
2 Access Door Mullion, Premium, 61 x40 x 1.0 ( SGAMP/26 ) 2625mm MS1
66 Tek Screw, 10-16x16 Hex & Neo. Class 3 ( TEK1) TEK1
23 Tek Screw, 10-16x22 Wafer Hd. Class 3 ( TEK2 ) TEK2
27 Tek Screw, 12-14x20 Hex (No Neo) Class 4 { TEKS ) TEKS
781 Tek Screw, 14-10x25 Hex (No Neo) Class 4 { TEK7 ) TEKT?
5 Tek Screw, 14-20x22 Hex (No Neo) Class 4 ( TEK20 ) " TEK20
72 Tek Screw, 8-18x12 Button Head, Class 3 ( TEK15 ) TEK15
20 M5 - 14 X 20 VORTEX FIBRE BUGLE HEAD CL3 (TEK2A) TEK2A
51 Tek Screw, coloured, 8-18x12 Button Head, SDS C3 ( TEK15/CB ) CB/TEK15 PB
59 Tek Screw, coloured, 8-18x12 Button Head, SDS C3 { TEK15/CB) CB/TEK15 WG
14 Tek Screw, coloured, 10-16x16 Hx SDS C3 Neo, CB/TEK1 PB
514 Tek Screw, coloured, 10-18x16 Hx SDS C3 Neo, CB/TEK1 WG
13 Tek Screw, coloured, 12-14x35 Hx Double Grip SDS C3 ( TEK4/CB) CBITEK4 PB
13 Tek Screw, Vortexroof, coloured, 14-12x50, Class 4 ( CB/NORTEK) VORTEKCB PB
525 Tek Screw, Vortexroof, coloured, 14-12x50, Class 4 ( CB/VORTEK) VORTEKCB WG
9 Bolt, & Nut Hex. M10 x 20mm Z/P ( HEX3 ) HEX3
41 Bolt, Hex.HD & Nut H/T M16 x 40 Z/P GRD 8.8 (HT6 ) HT6
81 Washer, Round Z/P M16 ( W16 ) w16
17 Washer, Round Z/P M10 { W10) W10
17 Washer, Round Z/P M8 (W8 ) w8
107 Rivet, RAS42W Seal Al T Dome 3.2 x 1.6-3.2 (POPGUT) POPGUT
6 Dynabolt, M16 x 65mm ( D16060 ) D16060
4 Dynabolt, M8 x 42mm ( D8042 ) Dg042
2 Cleat, Apex, suit C100 section x 15 Deg (NA10/5/15) NA10/5/15
3 Cleat, Apex, suit C150 x 15 Deg section (NA15/5/15) NA15/5/15
6 Cleat, Knee - G150 x 15 Deg section (NK15/5/15) NK15/5/15
4 Cleat, Knee-C100 x 15 Deg (NK10/5/15) NK10/5/15
2 Cleat, Access Door Base (SGBA) SGBA
6 Cleat, Column Base (NB10/5) NB10/5
6 Cleat, C150 "Cast in Base" (SGBS15) SGBS15
4 Cleat, C100 “Cast in Base" (SGBS10) SGBS10
2 Cleat, Premium A.D. Mullion Base (SGBAP) SGBAP
2 Cleat, E/Wall Column Cap (NEC10/5) NEC10/8
2 Cleat, Muilion Cap, Access Door (NADC) NADC
2 Cleat, Handy-Cleat (HAND/CLEAT - HCL) HCL
28 Cleat, R.A. Door Head ( NH10/5 ) NH10/5
4 Cleat, Corner Fascia (NCF/5) NCF/5
This building should be constructed in accordance with the Ranbuild Construction Manual.
If a Manual was not supplied please contact your Ranbuild dealer for a copy.
Page 2 Printed on 6/10/2012 at 13:38:28




Bill of Materials Quote No. 0535-010104.00 Job No. 320350

IR R I ) Client Site Class Sundown Span 7130
Better sheds, Bigger choize, | STEVE BARNES El?ngi ﬁg{: lB%EENY ‘ Type Supe r Eaves 2700
289 PACIFIC HWY NSW 2324 Length 5860
HEATHERBRAE NSW 2324 Model Garage + 2 3000mm Roof
Wind B/3 onl_y extensions
Qty Description Measure Mark Colour
6 Cleat, Inter. Fascia (NIF/5) , NIF/5
14 Cleat, Gutter Bracket Spacer (NGB/2) NGB/2
¥ 5 Strap, Fly Brace-suit C150, 530mm Ing. { SGFB15) SGFB15
2 Strap, Fly Brace-suit C100, 365mm Ing. ( SGFB10) SGFB10
2 CSlI Rollmasta, R.D, Residential "R1 R", 2400 high x 2450 curt. width C/B RD1 PB
1 Premium A.D. Leaf, C/B DAP2108C/B  PB
1 Window, sliding 790x1274 clr powder coated WW1 PB
2 Insulation, Air-cell, Glareshield (Anti Glare) 1350mm x 22.25m Roll INS1
1 Sealant, Gutter, Silicone, cartridge, Grey ( SEALER ) SEALER
2 Hinge, 100mm Butt Fixed Pin, Z/P {(HINGE/GAR) HINGE/GAR
1 Cabin Hook Set, 100mm, ZP Archur G14100CPP ({ CABHOOK) CABHOOK
1 Lockset, T100 ST SCV , "Lever Handle", S/S ( 100STPBV ) 1008STPBV
1 Tape, Air-cell, Reinforced Aluminum, 72mm x 50m Roli 1
2 CSI Rollmasta, Wrapping, hardboard tubing suit R1R Doors WR1
1 Super Garage ‘ EBS

This building should be constructed in accordance with the Ranbuild Construction Manual.
If 2 Manual was not supplied please contact your Ranbuild dealer for a copy.

Page 3 . Printed on 6/10/2012 at 13:38:28



